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( m) (n%/s)
2,500 10
19
2,000 -1 8
17
1,500 -1 6
15
1,000 -1 4
13
500 3 3 3 12
18,700 m 15,700 m 16,400 m 11
0 4.6 / 4.6 / 4.5 / 3.5 7/ L 0
4]s]e6[7]8]ofeof11[12] 1] 2] 3] 4[5 6] 7[8]9of1o[1a]12[ 1] 23456 78] o]zo[aa]2a] 1] 2]3 4[5 6[7[8]ofr0]11[12[1] 23] 4]5]6]7[8]9to[12]22]1]2]3
17 18 19 20 21
C.m /sy |
300
250 -1 1.0
200 -1 0.8
10 riirinlidftmr-100diliadddftrr-anidaof ARl r——=1Hr=1ir-———1ddnidnaonnnopfnngr——-- -1 0.6
0L O e e e O -1 0.4
50 ] i HH =1 |1 ff ] S T - 0.2
2,400 2,500 o’ 2,300 n’ 2,200 n’ o
0 4]s5][6]7][8]ofro11]22] 1] 23] 4][5] 6] 7] 8 ofof1a[a2] 1] 2] 3[4a][5]6][7[8]o]ro[aa]12][ 2] 2]3]4]5[6]7[8]o]r0[11[12[1]2]3]4]5]6]7]8]9]r0f22[12] 1]2]3 0.0
17 18 19 20 21
/ (480 m?3)
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4.89md/s
]
(H22)
pH BOD SS DO CoD T-N T-P BOD CoD T-N T-P
1,000MPN
6.5 2mg/L 25mg/L | 7.5mg/L 7100
8.5
gg 15mg/L 5mg/L 5mg/L Img/L | 0.1mg/L 8.5mg/L | 2.6mg/L |0.15mg/L
6.0 8mg/L | 100mg/L | 2mg/L
8.5
6.0 10mg/L 2mg/L 2mg/L
8.5
1,000MPN
gg 2mg/L 25mg/L | 7.5mg/L 7100mL
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BOD
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